Read the problems and solve

A star fish has 5 legs. How many arms do 8
starfish has?

There are arms altogether.

A magician has 7 hens. He makes each hen
lay 6 eggs. How many eggs are there in all?

There are eggs altogether.

There are 9 flowers. Each has 5 petals. How
many petals are there?

There are petals altogether.

A spider has 8 legs. If there are 6 spiders,
how many legs are there in all?

There are legs altogether.

Hanker gave 3 sweets to each of his 7 friends
on his birthday. How many sweets did he
distribute in all?

He distributes sweets in all.




